Problem of the Night for Week of February 24-28, 2020
Name: ________________________________

Monday		
1. Last weekend Sanjay watched 3 television shows that were each 30 minutes long. He also watched 1 movie on television that was 90 minutes long. What is the total number of minutes Sanjay watched television last weekend? Show your work and explain your answer.

2. Tayshawn sorts 56 marbles into equal groups with no marbles left over. Which statement could be true of the groups of marbles Tayshawn sorts? Explain your answer choice
a. There are 6 groups of marbles with 8 marbles in each group. 
b.  There are 7 groups of marbles with 7 marbles in each group. 
c.  There are 8 groups of marbles with 7 marbles in each group. 
d.  There are 9 groups of marbles with 6 marbles in each group. 

3. Patti puts 40 marbles in a bag. Each marble has a mass of 3 grams. What is the total mass of the bag of marbles? Show your work and explain your answer.


Tuesday	
1. 
Part A: 
A band has 36 members. They are arranged into 6 equal rows. How many band members are in each row? Show your work. 

Part B:  
Can the same 36 band members be placed into exactly 7 equal rows? Why or why not? 
 Explain your answer. 

2. The graph below shows the number of shirts of each color in a store. How many more red shirts than the total number of blue shirts and yellow shirts are in the store?
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Wednesday
1. 	
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2.
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Thursday		
1.
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Show your work and explain your answer


2.
[image: ]
Explain how you arrive at your answer.


3.
The bar graph shows the numbers and colors of cars in a parking lot. The total number of silver and black cars equals the total number of red, white, and blue cars. How many black cars are in the parking lot? Explain your answer
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Friday	

1.
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image6.png
A teacher puts 5 packages of craft paper into a cabinet. Each package has
80 sheets of paper. What is the total number of sheets of craft paper that
the teacher puts into the cabinet?




image7.tiff
Umi created the number pattern below by adding the same amount each time
to get the next number.

20, 40, 60, 80, . . .

What will be the eighth number in the pattern?
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Colton and his dad bought a gallon of paint that cost $13. They also bought
2 brushes that cost $9 each. What was the total cost, not including tax, of the
brushes and the paint they bought?
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Maddie will ride her bike a total of 56 miles over 7 days. She will ride the same
number of miles each day. What is the total number of miles Maddie will ride
each day?
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Mr. Gomez built a geck. Ihe deck had an area of 239 square meters. VWhich
figure could represent the deck?
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A teacher puts 5 packages of craft paper into a cabinet. Each package has
80 sheets of paper. What is the total number of sheets of craft paper that
the teacher puts into the cabinet?
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The sizes of two bathroom floors in Beth’s house are shown below.
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+
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Beth says that the area of the floor of the green bathroom is larger than the area
of the floor of the blue bathroom. Is Beth's statement true? Why or why not?

Explain your answer.
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Edwin uses 4 rolls of green ribbon and 8 rolls of purple ribbon for a project.
* Each roll of green ribbon has a length of 90 feet.
* Each roll of purple ribbon has a length of 60 feet.

What is the difference in length, in feet, between the total amount of green
ribbon and the total amount of purple ribbon Edwin uses?

Show your work.
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The shape of Cindy’s flower garden is shown below.
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What is the area, in square feet, of Cindy’s flower garden?
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A teacher puts 5 packages of craft paper nto a cabinet. Each package has
80 sheets of paper. What i the total number of sheetsof craft paper that
the teacher puts into the cabinet?




